Circuit 31

Montjustin - Ehuns - Le Val
97,05 km - Total des montées : 1123 m

https://www.gpsies.com/map.do?fileld=dljemccxwdqgrtrcy

Route Lieu km
d13 Vesoul - Colombe 6
d13-d80 Noroy- Autrey 16
d125-x Montjustin- Liévans 22
x-d32 Pomoy La Creuse 28
d32 Bithaine-Colombe les B. 33
d32-d71 Brotte les L.- 40
d144 Visoncourt-Ehuns 45
d142 Villers les Luxeuil 47
X-d229 Briaucourt-Ainvelle o8
d148-x La Pisseure-Plainemont 62
d14-d146 Varigney-Bassigney 69
d28-x Bourg.les Conf.-Equevilley ”
d6-d52 Val St Eloi 82
d52-d10 Vesoul 950 96
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